
Lecture 11-Phase Equilibria
Why I phase over another

How does p change with
T & P

For each phase
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Heat capacity - depends on substance
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want pt = #4 - + J <
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To do integral , start at some reference
temperature
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& phase transition
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Book : details of integrals

F(π) for H20

5 (T) for H20 reaction
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That was all constant pressure
what is effect of
being of different fired pressives

Biggest effect on gas
(what is the compressibility)
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higher pressures
favor phases that are

denser
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diagram#trictionson phase
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One equation for each phase
when can they be equal
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this line has a slope
- 1- 2
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Claussius-Clapyron Equation time
--

Gibbs-Phase Rule

# components - # coexisting
+ 2 = Degrees ofFreedom

Things you can change & maintain eq


